'ﬁ)du _é‘ﬁ”)fj /'; dut';l‘f'..g‘f“? uﬂ,e.‘g”r“ﬂ:.ﬁm
e A S P |03 g 2019-21102022-24 ¥ 1Ll bE

PAPERCODE 5197 1548  wwmody (P Ll
aug,?JﬂaﬁLLLﬁ/’DWg}'l&f&vlﬁuuauﬁu;/’uéé: &Ly oy b’duz_wéfz,,Dmch;A..:,ux.-fwéuly HOw
e &1L 70 PAPER conn;éov.%gurw.Jn)nu;,;zigmm,s’n:,%&,,m;,fz VNS YAy S /Iuﬁ;;u
Note:~ You have four choices for each objective type question as A, B, C -,;_.C)"'JWIKix.u,gi«‘&u:‘luﬂ.,dtn/ru./lbdﬂ:.ai/'ﬂ?uf;«:/gfu‘ﬁ:d/

.and D. The ehoice, which you think, is correct; fill that circle in front of that question number. Use marker or pen t; ﬁl!‘lhe circles. Cutting or filling two :)r

more cireles will result in zero mark in that question. Write PAPER CODE, which is printcd on this question paper, on the both sides of the Answer Sheet

(¢ =212)0923

and fill bubbles secordingly,

otherwise the student will be responsible for the situgtion. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
aEIOan x::log,,n xZ'[Qg“a n:]ogxn ”’ax:.._n then ;” ; ax gnﬁ 1
—2b —2a 2u 2b ; 1
% h? a?-h? a?-h? W a-b avh 4y equal ko il a-b__ a+b #
4 4b’ 16 b° -16 b LSRG Lt S 91280 | 4
What will be added to complste the square of 9a°-12ah? v
21 p
2oV IAL[0 1| |
3-by~1|1-by—3|2-by~3|3~by—2 9 3 2
’ 1
Order of transpose of [O 1| is
3 2
/u"..cff_{l u&gd‘/;{l uiu"!’bugl uig:,{z et /'}JJ:’/" 5
A complex number A negative integer | A rational number A posilive integer Evexy real number is
FourJg Threeg’ Twou One ! 'wé/fb),!‘fu:‘w’J 8
¥ How many lines can be drawn through two points.
e D
& S i a If'a’ .edns 18, SS90 a é‘(d/.{l K
is the sidc of a'square then its area is....square units
2insle . I FE LS | AUigls | Iftwo S Gl JunS e bmlat (S| 8
Acute angled | Rightangled | Equilateral Isosceles | medians of a triangle are codgruent then the triangle will be
2 - "'t a-b' sa’-b’ | 9
(a’-ab+ b%) g = bF atb a—-b 3 oy -—~—~‘)’ '
( ) ( ) ( ) H.C.F. ofa’=b” and o’~b’ is :
Insdye 10addx ) | .10
x>10 | x<10 | x <10 | x>8 _ —
If x is no larger than 10, then
edsyIny=2x+1.x=2/1| .11
5 4 3 2
4 Ify=2x+1,x = 2then y is:
o 3 Lo "
(-1,-1) .0 (1,00 #% a, - B we(2,2)s(0,0056 | 12
i . Mid point of the points (2, 2) and (0,0) is
o - 5 ea e dedUeierkd Ledb-(-1) | 13
- B The symbol used for (1-1) correspondance is:
(TP Jﬁ’(“[f J’;’f: WS _u]d:.né_tb»:éfw 14
None ofthese | Non.concurent | Concurrent | Congruent | Medians of a triangle are:
BES A BA o Wl Z el | s
Non. concurrent | Concurrent Collinear parallel The bisectors of the angles of a triangle are:
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Answer briefly any Six parts from the followings. 6%2=12 vq_‘//_/’ au_?./ﬂ [_!'Zlfc—df L‘;tj.f(‘/.u <2 ﬁ"dlr

Define matrix. ,.’f_i:..,yﬁufdb’ 6))
Find the product. [1 2] [_54J [1 2] Li] vé,’f:f;bﬂ)"b‘}} G
Give a rational number between z— und% -..’:.e,L‘&uiG“'L'..gl W 4’:‘%4:!; (i)
Simplify. (2x%y ") (~8x 3y?) (2x%y™") (—8x 3y ()

If log2=0.3010,log3 =0.4771,log 5 = 0.6990, then log $ =0.6990<log 3 = 0.47714dog 2= 030107  (v)

find log 24 e Blog 24 T
Find the value of x. l0ges8 = g loge,8 = ;-é()l‘”égd/x (vi)
Evaluate, x%;zz for x=3, y = ~1, z = -2 zZ=—=2unsy=-—1x :3.?%_£r}’*.~,§ (vii)
Express in the simplest form. % Viz8 % 3\/1_2_8..51__/‘"‘}&{;%}'/3 (viii)
Factorize 128am’® —242an’ 128am’® - 242an® .y /6¢  (ix)
Answer briefly any Six parts from the followings. 6%2=12 -u_’f /j' ..-.l..b!/:? &l')!l{c.df < LS -3/:"" iy

Find H.C.F by fuctorization x°+5x+6 , x*-dx12 45046, K-4x-12 S et O
Solve the equation fé‘}_ - x;?, =-] L;_} - x;Z =] —»g,[/‘)' f-znbL.«‘L?fch (i)
Defing Absolute valug? ‘LJ/-&}JMJ&‘ €it)
Write the given equation in the form of y = mx + ¢7 ¥ - 2y =2 X -2y =) uﬁ’gu:dad/y =mx+ofanefl (v

Define Abeissa and ordinate? ?qfq}d&éﬁﬂutwl (v)
Find mid-point between two points. A(0,0), B(0-5). A0,0), BO0~5)0 s L5l s6btn  (vi)
Define isosceles triangle? S S (vid)
State S.A.S postulate? U s K (SAS) il (i)

P__J8 N P8 @
IFLMNP is parallelogram, 4m o L LILMNE S (i)
Find value of m and n. o ey (I i e T ‘-’vjofr‘*b"%gJﬂﬂ'm;
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S.a.

)
«nswer briefly any Six parts from the followings. 6x2=12 -.u.’f 4/’ VY 4 /‘? Ziz {c.éf Lu.‘."f. 3l -4 / Jb’
e right bisector of a line. S’C( D o 23 -ﬁ'.ﬂ/ﬁ/c'..dﬂb'u')/éb.aﬁ' ®
Justify that 3cm, 4cm and Scm are the Lengths of triangle. Y. B PN Cwléwu’(b‘cmm 4em, 3emS S Fsd Gl
Define Similar triangles. s e g law (iv) Detine propottion. <csl e ort (il
idcm i 10cm
Find the valug of x. " ,%f f)":.q? S W
Find the area of given figure, A\ A.\ s pP JHEP J& D)
Il 16 cm
{6 cm
Verify that the triangle having the following measurcs of ,;lﬂf;-”G'Mff‘/"/lzﬂwdjjauugwgfbwlé:.w (vii)
sides are right-angled. @ =9cm,b=12¢m,c=15cm a=9cm,b=12cm,c=15cm-c
Define Centroid. e A (viii)
Construct a AABC, in which mAB =3¢m , mAC =32cm , m/A=45" u:u)'u:/(}.AABC Gix)
Part II rJ) g
Note: Attempt any Three Questions.Q.9 is compulsory (8x3=24) 9 / Ju-..g/ .gf gy:xégm,—u{ ;J;(:g,)
Solve the equations with the help of Cramer’s rule. 4x + 2y =8 LSS a6 &AL Ui @5
x-y=-—1
A+ g+r Py q+r
. a’ a’ - a’ a’ xpr P
simplfy H | H L H | (? 5@y g W
Using log table Find the value of ¥2.709 x Y1.239 G erada bl A RY (D6
f3x + 4y = 11 andxy = 12, then find the value of 27x% + 6439, 5‘()1"-‘—2‘,(27163 ¥ 64—_‘)133#20’ =124 3x +4y = 11/ (b)
Factorize by factor theorem x3 + x2 — 10x + 8. x3+x2 = 10x + 8.y S F = ra Jd/“.l»’/‘ (a)7
Find the H.C.F by divisionmethod ~ 2x% — 4x* — 6x, x5 + x* — 3x3 — 3x2 q/(k‘f:”",g,,;,—""uu )
; 2 r _ 1 » 5
Solve the Equation > eyl X #* 1. ‘.J”/(}”u_nf{ul:b‘ (a)8
Contruct a AABC draw perpendicular bisectors of its sides and verify J_‘{'{Jﬂtd;/ Zbwn L el frsds ABC ()
that they are concurrent. wLnAﬁﬂ,fg/_fJ“ﬁul
mAB =4cm , mBC =4.8cm, mAC =3.6cm
Prove that “Any point on the biscctor of an angle is NPy 1y Py ,qu'.,gw,..w&g.;uu/”q/;w -9
equidistant from its arms”  creereOR rermew SRS — e b dell
Prove that “Parallelograms on equal bases and having the JKﬁl{;u:wd;mdu&u’bummtjuéuwts'/;u,"gf el
same Cor equal) altitudes are equal in area”, RV ALYIN S
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Notei= You have four choives for sach objestive type quBstion as.A, 13, Cand 12. The ehpice, which you think, is correct; 811 that virele in ;
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(D) (€) (B) (A) QUESTIONS Q-1
. (a+b) Sunubibaugdia oz Al g US|
(aXbIJEKE £ 2(a -+ b) units u(’ + b i -
(axb) squarc units | UREES JEHT Vr H Afthe length and widthofa &b J;B’J,‘b'/
Fcctangle are a units and b units then area of a rectangle is:
¥ ol ( o P ¥ <
vuLUUlg‘,?w ,:/Jf/'l 240 u;uld;lﬁ CLU‘U‘ _q_dﬂqf_* usz U“cu‘llué‘ﬂw_gl 2
Liwuf e/ Right Tessimlig Scalee 4 A triangle having two sides congruent is called:
LEquilateral Angled ; )
ies1iXI Ig 6':0 Sl 3
-9 6 -6 9 &
2 6
If | |=0, then x equals to:
13 _x
o - e wF¢2ab(i+i2) A5 | 4
—2abi 2abi ~2ab 2ab o R G
Real purt of 2ab (i + %) is:
,,q..,ﬂkghﬂﬁ‘______flog}, ax logeb | .S
logpe loga.b log.a logac 4
logy 8 x log, b can be written ax!
at-p? | a*-h? 6
(u—~b) (a+b) | (a+ b)Y (a-b)? — 1S equal to: o el I
2 (0+3) | G=2),(x-3) | G+ 6)(x+ 1) | (eH 1), (x-6) | Thefactors of x*-Sx+6uret < ffaaad Peitnil X-5x46 | 7
; - BiSboisk 30xyz o 45xy, 152 |
15x2yz 15xyz 90xyz 90x%yz e d; » vz , 4 8
L.CM. of 15x*,45xy and 30xyz is:
stlenFonl , | ARt Lkl e > < 2y SRSl | 9
e Al éﬁu‘a{:"ﬂf =l . . 5
Lincar igeqially . Equation A statement involving any of e Juf
Equation i :
Identity the symbals< ¢« > , < or = is called:
Mid point of Ze. L0 n(2, 22,2050 | .10
1 0 (-2,-2) (z,2 ‘o ra
G, 0 ©,0) zl the points (2, -2)and(-2,2) is:
e SO LS (=3,-3) &5
1 ! 1l v Point (-3,-3) lies in quadrarllt: -
6P J*L?" 4ldie g e dndeiid £ ekl |2
perpendieular | Congruent Similar Parallel L is used for :
AT ua:."“ S L s UJL/_ Jé.../u.{l}';ﬁbib"wdﬂi" 13
Nong of these B et Tri;m B is;ct The diagonal of a parallelogram each other
right angle
. — — bl b Gl ABBA | 14
AB AB AB AB Line segment AB is written symbolically as.
S et | BBAE S -7 b4 b sz_/d:’.)(d,r/w;. 15
None ofthese Three non Three collinear | Two points points determine a plane.
collinear points points

Loy
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Part I SCD~2-23 s -
Answer briefly any Six parts from the followings, 6x2=12 -q/ j a.w/" L'Z’{é—d[ Py ;z.llw -2/ Jir
Define Singular and Non-Singular matrix. _éqﬁdf._/’ﬁ'z:c/ﬂ;l/;t ®
. _1 '—2 t _ t o5 " t t= » 1 "2/ >
uA-L3 . Jand B= [ ,thcn find 24t — 35 G20t~ 385 =] O ; BJM : Py
Simplify /25x10ny8meL 3% (3 Simplify (x)? +x3%,x % 0. _2£,#  (Gip)
. 1 log. —L .
Evaluate. log, 128" 28] 128 2‘;(,1";-_4_{ )
IMog2 =0.3010,l0g3 = 04771, log’5 = 0.6990, log5 =0.6990 log3=0.4771.l0g2 = 03010/ (y})
then find the value of log iO _’.é,’}‘”:‘,{:"b(]Og 307,
Rationalize the denominator. -Z“-ZVQJJ’L‘)/(;/" (viii) Simplify. *Vizs 2128 & 4 o
VE-V3 5 5 . (vii)
Factorize. 2y% + 5y ~ 3 2y* +5y — 3&6s (i
Answer briefly any Six parts from the followings. 6%2=12 -‘_{/ 4;’ ..w/’? d:lllic..df LSt -B/Jlr
Find thc square root using Factorization? ~ll6-x2 = f;xy + ;gy Sq/(}"‘d/u,ydj.gu @
Solve the equationV3x + 4 = 2 V3x+4 =2/ flfan- (i)
Define Non-sirict inequalitics? ?Q:/_{?/‘?Jﬁa'ﬂ/‘ﬁ;/J/ Gii)
Define Collinear points. ?q/.y/"dl,m Al Giv)
Find vatuc of F2at C° =10° whan=52C+32. F=52C+32? »C=10° .?g/_/ﬂl”:,gJF )
Find the distance between two points. A(2,-6) , B(3,-6) AQ,-6), 8(3,-6)0\/_/&/&6“;;»»11,@[2"_) (vi)
Define Equilateral triangle? ?q/._y/"chLumd,u (vii)
What is meant by SAA = S. A A? D - ?g.)l/gfaS.A.A’:” SAA (i)
(5m + 10)° 11x° |
Inthe given figure ABCD is 4 Lusuin® LABCDLAE TS (o)
(7] - -
parallelogram, find the value of x and m. A= 55 _\/_/(')1”‘:,{.' sz;lx/-;.
B
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Answer briefly any Six parts from the followings. 6x2=12 ., _f P /’ A2 A2 Lz {;J[ =St -4 / Jisr
o SaD-a

Define Bisection of an angle.
1£3¢m and 4ein are lengths of two sides ol a right angle triangle,
then what should be the third length of the triangle.
5 " 4 alf
Define congruent triangles. - yd's c,urL"J = Giv)

Find the value of x.

Find the arca of given figure, ‘

Verify that the triangle having the following measures of

Sem

sides are right-angled. a=16¢m, b=30c¢m, ¢=34cm.

Define incentre.

Construct a AABC in which mAB = 3.2cm, mBC =4,
Part I

Note: Attempt any Three Questions.Q.9 is compulsory (8x3=24)

a+h hic CN\CHa
xu xb xr.
Show that | —- X [ — X | — =]
A x* x“

0.678x9.01
0.0234

Usc logarithm table to find the value of

Ifm+n+p=10andmn + np + mp = 27 then
find the value of m? + n? + p?

. £ .
Factorize by factor thecorem X"~ 2x"-x + 2
2

X*+x-6 x%-4
xi-x-6 x2-9

Simplify to the lowest form

; ; 1 1
Solve the inequality 4- 2% 2 — 7 + e

-3

weilpf e it Ll

LIy sdemat3emULd J‘LMIJ;Z.&.&:;M 0 O/ﬁ

S o

Define Proportion. ,;.)l/gfg,.,/t-:

X 13 cm

e edd

8 cm
Zd»cm ~gj“frk’.}'/(féfd}

N LG &l S T B S5t NS S i £ et
a=16cm, b=30cm, C=34cm-c

_c‘-)l/g;f/duﬂ
2em , mCA =5.2¢cm LT eLAABC
r.g! i’ )

x“ a+h vh \b+c xc ctu
(—I;J x (“L_ [ x (—“J =1 S
"9 X / X

0:678x9.01 . ;
S NS -é )L"‘CM” 3 P-4 /54)1
Doz —oredesbdul

mn+np +mp =27, m+n+p= 100

,Z.fr:b"ofgtfmz +n? + pzin

: X-2x"-x+2 ~.2§df¢;;u_fdf.lf/
\ xi+x-6 _ x%-4 2 -

Heeon x2—x—6 A x%—9 g[//‘!u:.uf%/ul/

4- ::—x > -7 +i—x IS Sl

Construct « AABC. Draw its angle bisectors and verify that they are concurrent. -wwﬂ:%[@ﬂ;ﬂﬁyc&ud:”&uUJ’w,l'r.AABC

mAR = 4.6cm, mBC =Semand mCA =5.1cin

Prove that “Any point inside’ an angle.cquidistant from its
arms, is on the biscctor of it.”

~~~~~ {67 | I—
Prove that “Parallelograms on the same base and between the

. “ - »
same parallel lines (or of the same altitude) are equal in area.

936 - 0923 -
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i)

Gii)

~)

(vi)

(vii)

(viii)
Gix)

SN AUy Sef ezl ety e §fins
Solve the equations with the help of Cramer’s rule 2x +7y/= 3, 6x + Sy=1 u:/‘)ac_ug,(u)ﬁ'éﬁf/uibv

(a)s

()

(@6
)

()7
®)

(a)8
)

-9



